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問題Ⅰ回答欄　Question I answer fields
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Incorrect paragraph number
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Write the incorrect part:
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	間違っている文章の番号
Incorrect paragraph number
	間違っている部分を抜き出してください。
Write the incorrect part:

	
	説明
Explanation:



	間違っている文章の番号
Incorrect 
Paragraph number
	間違っている部分を抜き出してください。
Write the incorrect part:

	
	説明
Explanation:



問題 Ⅱ	回答欄　Question II answer fields
	
	図の番号
Number of figure
	季節
Season

	a しし座		Leo
	
	

	b さそり座		Scorpius
	
	

	c オリオン座	Orion
	
	



問題Ⅲ	回答欄　Question III answer fields
	
	写真の番号
Number of photo

	a 星団	Star cluster
	

	b 星雲	Nebula
	

	c 銀河	Galaxy
	




問題Ｉ 以下の 1 から 9 の文章の中に明らかに誤ったことが書かれている文章が４つあります。解答欄に誤っている文章の番号を書き、どこが間違っているか間違っている部分を書き出してください。つぎに、どのように間違っているかを説明してください。（正しくするためにどう修正すればよいかを具体的に示すことができれば最もよいのですが、どのように修正すべきかの方針だけでも構いません。）
Question I
Four out of nine paragraphs numbered from 1 to 9 contain incorrect concept/s. Identify and write the number of the paragraph and pick up the sentence containing the wrong incorrect concept on your answer sheet. Explain why you think it incorrect. You can also write the outline of revision.


1 人々は昔から、特徴的な星の「ならび」に名前をつけて呼んできました。これが星座の始まりです。各地で独特の呼び名がありますが、お互いの情報 交換や記録には、世界共通の呼び名があったほうが便利です。そこで現在で は、国際天文学連合で定めた 88  個の星座とその境界を世界共通に使っています。
From ancient times, people have given names to the characteristic patterns of stars. This is considered the origin of constellations. Each culture has its own names of constellations. But it is convenient for us to have the common names for exchanging information and records. Thus, now we use the 88 constellations and their borders defined by the International Astronomical Union as the world-common constellations.



2 星の明るさの尺度である「等級」は古代ギリシアで考案されましたが、その後の科学的な測定によって、１等星の光量は６等星にくらべておよそ １００倍であることがわかりました。これをもとにして現在では、５等級のちがいは１００倍の光量のちがいにあたると定義されています。これから逆算すると、５等星、４等星、３等星、２等星、１等星はそれぞれ６等星より、２０倍、４０倍、６０倍、８０倍、１００倍の明るさです。
The scale of the brightness of the stars’ magnitude was devised in ancient Greece. Later through the scientific measurements, we found that brightness of 1st magnitude star is about 100 times that of 6th magnitude stars. Based on this, we have defined that a magnitude difference of 5 corresponds to a light amount ratio of 100. Calculated from this, the brightness of a 5th, 4th, 3rd, 2nd, and 1st magnitude stars has 20, 40, 60, 80, and 100 times the brightness of a 6th magnitude star.


3 太陽のように自ら光を放っている星（恒星）にみられる色の違いはその星の表面温度の違いを反映しています。青白く見える星は赤く見える星に比べてその表面温度は低くなっています。
Different colors of the stars, objects radiating light for themselves like the Sun, indicate different surface temperatures of the stars. Blue stars have lower temperatures than red stars.



4 南を向いて星空をながめると、星々が互いの位置関係（星座の形）を保ったまま、東（左側）から昇って西（右側）に沈んでいくように見えます。また、北を向いて星空を見ると、北極星のあたりを中心として反時計回りの円運動をしているように見えます。このような星の運動を「日周運動（にっしゅううんどう）」といいます。日周運動は地球が自転しているために起こります。そして、日周運動の周期は地球の自転周期そのものです。
Observed from the northern latitudes, when you look the starry sky toward the south, you will see stars rise from left, the east, to right, the west, keeping their relative positions. When you look the starry sky toward the north, you will see the stars move counterclockwise centered on the point near Polaris. The motion of the stars described above is called “diurnal motion.” The diurnal motion is caused by the Earth’s rotation. The period of the diurnal motion is exactly that of the Earth’s rotation. 



5 地球は自転しながら太陽の回りを公転しています。夕方から夜中、明け方へと時間の経過とともに見える星座が変化してゆくのは「公転」の結果であり、同じ時刻に見ていて季節によって見える星座が変化するのは「自転」の結果です。
Earth revolves around the Sun while rotating itself. Changing of the constellations one sees during the course from evening to midnight and to dawn is due to Earth’s “revolution,” while changing the constellations with the seasons for a given time is due to Earth’s “rotation.”



6 星座の中での位置を変える星があります。そのなかでも、金星、火星、木星、土星は明るく目立つ星です。水星の動きも注意深ければ見つけられます。望遠鏡が発達してから、天王星、海王星が星座の中を移動する星として見つかりました。これら７つに地球を加えて８つの星は惑星（わくせい）と呼ばれます。これらの惑星は太陽の回りを公転しています。そのために星座の中を動きまわるように見えるのです。
There are bright objects which move relative to the background stars such as Venus, Mars, Jupiter, and Saturn. If you observe carefully, you will also notice the motion of Mercury. After the invention of the telescope, Uranus and Neptune have found as other objects moving through the constellations. Including Earth, as well as the seven objects mentioned above, the eight objects are called planets. The planets orbit around the Sun. Therefore, we see planets moving through the constellations.



7 私たちの太陽系は、銀河系という、星の大集団の中にあります。また、銀河系の外には、銀河系と同じような星の大集団がたくさんあり、これを一般に銀河と呼びます。宇宙にはたくさんの銀河があることがわかっています。逆にたどっていくと、宇宙にはたくさんの銀河があり、その中の一つが銀河系であり、銀河系はたくさんの星の集団で、そのなかのひとつの星が太陽だということになります。
有名なオリオン大星雲は、そのような星の大集団である銀河の一つです。
Our solar system is in the Galaxy (the Milky Way galaxy), a big group of stars. There are many groups similar to the Galaxy. They are called galaxies in general. Now we know that there are many galaxies in the universe. Conversely, the universe has many galaxies, and one of them is the Galaxy. The Galaxy has many stars and one of them is the Sun. The famous Orion Nebula is an example of the galaxies, a big group of stars.













8 宇宙にはたくさんの銀河があります。多くの銀河を観測してみて、たいていの銀河がわたしたちから遠ざかっていることが発見されました。現在では、これは宇宙全体が膨張しているためであることが分かっています。時間を逆に戻すと、昔は宇宙全体がいまより縮んでいて、高密度で高温の火の玉のようなものであったことが予想されます。かつて高温高密度だった証拠を宇宙のマイクロ波背景放射と呼ばれる電波として私たちは観測することができます。宇宙が始まったのはおよそ 138 億年前のことです。
There are many galaxies in the universe. Through observations of many galaxies, we found that most galaxies are moving away from us. Now we interpret this as the expansion of the universe. If you go back the time, the past universe was much smaller, and it is considered that the universe was like a high-density and high-temperature fireball. We can observe one of the evidence of the ancient fireball universe as the cosmic background radiation in radio waves. It is considered that the universe was born about 13.8 billion years ago.



9 太陽系の中の距離を測る尺度として古くから太陽－地球間の平均距離（地球の公転軌道の長半径）が使われてきました。この長さを１天文単位（au）とよびます。１天文単位（au）は、約１億５千万 km です。太陽から土星までの距離は約 10 au です。しかし、宇宙の広がりはもっと大きいので別の長さの単位が必要です。光の進む速さは毎秒約 30 万 km です。このことを利用して、１年間に光の進む距離を１光年として距離の尺度にしています。１年は約 365 日、１日は 24 時間、１時間は 60 分、１分は 60 秒、ですから、 １年は、365×24×60×60＝約 3000万秒で、30万 km/秒×約 3000万秒＝約 9 兆 km でこれが１光年を km であらわした数字です。１光年は約 6 万 au にもなります。
As a yardstick measuring distance in the solar system, we have used the average distance between Earth and the Sun, the semi-major axis of Earth’s orbit. The length is called 1 astronomical unit (au). 1 au corresponds to 150 million km. From the Sun to Saturn, the distance is about 10 au. However, the universe is much huge, therefore, we need an alternative scale to measure the distance. The light travels at about 300 thousand km per second. Utilizing this, we define a scale of 1 light year, the distance the light travels in a year. Since 1 year is about 365 days, 1 day is 24 hours, 1 hour is 60 minutes, and 1 minute is 60 seconds, 1 year is 365×24×60×60 = about 30 million seconds, and 300 thousand km/s × about 30 million seconds = about 9 trillion km, which is the light year expressed in km. 1 light year also corresponds to about 60 thousand au.



問題 Ⅱ 上段の星座の名前 a, b, c と対応する図  1,2,3（中段）と、その星座が代表する季節（下段）を組み合わせ、解答欄に数字と季節名を書きなさい。
Question II
Match the names of the constellations with the appropriate figure and season when they appear in the sky in the evening. Write the number and season on your answer sheet.
[image: ] Spring          Summer             Fall              Winter
Leo                       Scorpius                   Orion

問題
Ⅲ 以下の天体の種類の呼び名、a, b, c  に対応する天体写真を選びなさい。（画像提供  １，２  NASA    ３，やまがた天文台）
Question III
Match the type of objects with the appropriate pictures of celestial objects. Write the number on your answer sheet. (Images courtesy of NASA for 1 and 2, Yamagata University Observatory for 3)
[image: ]Star cluster             Nebula               Galaxy
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